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I Continued analysis of n17’s resolution to v"’s approach to jnw5 5w mnn
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Challenge: if prvo1n 1*wyn is a consideration, then 0w1p *7p slaughtered in N 0'%p 0w1p DY should be valid
i Reason: the location makes it obvious that they are nwTp "wTp
ii  Block: m%p mwTp may also be slaughtered in N; S is just a license, not a requirement
Challenge: 0%p ©wTp slaughtered in S nwTp *V7p WY should be valid — location proves they are v%p nw1p
i Block: the onlooker might think them to be n*w1p >w1p and the vmw simply violated the law by performing in S
ii  Challenge: if so, bringing nann and saying nwnin owY, the onlooker might just think him a sinner
1 Answer: if he brings it in a nann, that’s what it is, regardless of his 773; but he doesn’t fulfill the 7 m
2 Challenge: if he identified the »55 and said nwnna ®2an% w — in which case it is invalid (if he then says nann)
(a) Answer: that is valid for the 1329; but w™ (our concern here) says that even in that case — 1771 ' RY
(b) Conclusion: he isn’t concerned with the identification of the *>5 — doesn’t establish anything
Challenge: (2 nwyn), if he slaughters a nron nwY n%Y it should be valid; n%» must be male, nkon — female
i Answer: since (nkon) ®'w1 1YW is male, the onlookers may think that’s what the nxon is
ii  Challenge: if he slaughters it 0’ nkon owY — or a %Y DW5 TN’ nron — should be valid
1 Answer: if it is a lamb, the tail covers the genetalia
2 However: if he brings a goat — should be valid
(a) Answer: people don’t pay much attention to those details
Challenge: if he brings a nwR nwY noa it should be valid — noa is a yearling, bwk must be 2 years old
i Answer: since y¥n DWRY PN DWYR are yearlings, it isn’t fully distinguished
ii ~ Challenge: if he states Mm%t WX DWY (e.g.) — should be valid
iii ~Furthermore: if he brings an noa nw5 (M>°1) owx should be valid
1 Answer: people don’t notice the difference in age — some yearlings look older and vice-versa
iv  Challenge: if he brings a goat (nva) Dwr nwH — should be valid — wr must be a ram
1 Answer; people may think it’s a black (scrawny) ram
Challenge: if he slaughters a calf noa W or oWR DWY — should be valid (no way to mistake those for sheep)
i Answer: indeed — "o'nar” mentioned by v refers to most n'nar (where no obvious distinction sets proper intent)

II  ®av's resolution to the contradiction in w"1’s words
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18177792 (where he fully validates): nmn DWY NN (e.g. NanNn DYWY NwNIn)

28177272 NAT DYY NN

i Reason:v.1includes puts all mnn into one grouping; but doesn’t include v>nar in that group

ii  Challenge: the reason given is not the verse, but that the actions are distinct
1 Explanation: what that means is that although the actions are distinct (and the intent is indiscernible) — pyoa
2 And: even though all actions of the n'nar are the same — no verse to tie them together

iii ~ Challenge: if he brings a 250 nron DW> 07 nNRoYN (or any other sin) — should be valid, per v. 2 — nronNA NN
1 Answer: indeed, v concurs — 1317 (per R17) limit range to mron of sins; not (e.g.) ¥11¥n NRVN — come w/nY
2 Note: X177 12 RNR "1 claims that all mxvn are limited to exact intent — per v. 3

III »wr '7’'s resolution:
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182272 if he said nwnan ow? (for instance) — where his statement was about the dish — which is meaningless
2x17772: if he said nwnIn nnan ow? (for instance) — where his statement is about the 129p — meaningful point of nawnn
i Challenge: the reason given is that the actions are distinct — 1°5» Prom nwyn
ii ~ Answer: meaning — in spite of distinct actions — it would be %109; in o’nar, invalid due to nawnn at point of nmay
iii ~ Challenge: w™ should invalidate n%%2 W% n2N (no *%3) (a: he means n%’a oWy in general)

1 Challenge: then mn%w nwY Ny should be valid — he meant Xnoya nnow

2 Rejection: pn5w is the name of the 127p (v. 3), but a n%a is properly called jnwa n%%a (v. 4)

IV Summary (all 3 “challenges” were considered by X»w1n 7 in answering whether v would validate nar nw% nmin)
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7127, others don’t take his position, due to »ar’s challenge (V1p "W:: DY NPY)
~27. others don’t take his position, they don’t understand nmnn n7in that way
swx /1. others disagree due to challenge of X177 172 RnR "1 (N9152/n0277N)
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